
नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

दशमलव को दस . की घात से गुणा कर 

10.888 × 100 = ________ 7.743 × 100000 = ________

10.361 × 10000 = ________ 1.017 × 100000 = ________

8.869 × 10 = ________ 10.852 × 10000 = ________

4.73 × 100000 = ________ 10.149 × 10 = ________

1.539 × 1000 = ________ 2.267 × 1000000 = ________

9.557 × 100000 = ________ 10.339 × 10000 = ________

6.283 × 1000 = ________ 7.651 × 100 = ________

5.443 × 1000000 = ________ 10.394 × 100000 = ________

2.214 × 100 = ________ 9.472 × 1000 = ________

7.676 × 10000 = ________ 6.49 × 1000000 = ________
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नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

दशमलव को दस . की घात से गुणा कर 

10.888 × 100 = 1088.8 7.743 × 100000 = 774300

10.361 × 10000 = 103610 1.017 × 100000 = 101700

8.869 × 10 = 88.69 10.852 × 10000 = 108520

4.73 × 100000 = 473000 10.149 × 10 = 101.49

1.539 × 1000 = 1539 2.267 × 1000000 = 2267000

9.557 × 100000 = 955700 10.339 × 10000 = 103390

6.283 × 1000 = 6283 7.651 × 100 = 765.1

5.443 × 1000000 = 5443000 10.394 × 100000 = 1039400

2.214 × 100 = 221.4 9.472 × 1000 = 9472

7.676 × 10000 = 76760 6.49 × 1000000 = 6490000
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